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M.Ed. Semester- IV Examination (Supplementary)
October - 2021

B-110 Educational Management and Organization in Secondary Education
Time : 2 Hour Total Marks: 50

Section - I
Que — 1 (A) Answer the following questions. (Any Three) 21
(1) Discuss in detail the educational planning at the national level.
(2) Discuss the role of teacher in school development plan.
(3) Clarity the importance of school management.
(4) Discuss about the financial resources of school.
(5) Discuss in detail the role of human resources in development of school.
(6) Discuss in detail the management of teaching - learning materials for teaching at
secondary school level.
Que — 1 (B) Answer the following question in short. (Any Two) (04)
(1) What do you mean by short term planning?
(2) State the importance of school development plan.
(3) What is material resource?
(4) State the role of teacher in resources management in school.
Section - II
Que — 2 (A) Answer the following questions. (Any Three) 21)

(1) Clarify the importance of monitoring at secondary school level.
(2) Discuss in detail mechanisms of school monitoring.
(3) Discuss in detail the objectives of school monitoring
(4) Discuss the importance of discipline in classroom management.
(5) Discuss in detail the role of teacher as a manager in quality learning.
(6) Discuss about the management of individual learning in classroom.
Que — 2 (B) Answer the following questions in short. (Any Two) 04)
(1) State the issues related with monitoring practice.
(2) What is school monitoring?
(3) How can the students be motivated for learning?

(4) What do you mean by the management of group learning in classroom.



Instructions: Alt Questions in Secticn | carry equal marks
Attempt any TWO questions in Section |
Question V in Section Il is COIMIPULSORY

Section |
Q.1 The Following two alternatives are present before S Ltd. For investment in
the new project:
Project A Project B
Initial Outlay T 50000 T 50000
Estimated Life | 5 years 5 years
Cash Flows:
Years
I 15000 5000
2 20000 15000
3 25000 20000
4 ] 15000 30000 3
5 10000 20000
The company expects 10% return.
Year 1 2 3 |4 5 ]
[ Disc. factor | 0.909 | 0.826 0751  ]0.683 10.624 |

Find out the profitability of both the projects by following methods:

1} Net present Value

2) Payback period

3) Profitability Index

4) Accounting rate of return

Q.II(A)  XYZ Ltd. Has ¥ 20, 00,000 allocated for capital budgeting purpose.

The following proposal and associated profitability indexes have been

determined:
Project Amount Profitability Index
A 6,00.000 1.22
B 3,00,000 0.95
C 7,00.000 1.20
D 9,00,000 1.18
E 4,00,000 1.20
F 8.,00.000 1.05

Assume the projects are indivisible and there is no

money allocated for capital budgeting.

Which of the above investments should be undertaken?

QII(B) A Company is considering a proposal to buy one machine out of the two. An
investment of ¥ 50,000 is required in each machine and useful life of each

o

I o

alternative use of the

20

10

10



Q.11

Q.IV
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machine is estimated at 4 years. The vendor of these machines has given a
guarantee to purchase these machines for ¥ 5000 at the end of their useful
lite. The company uses certainty equivalent co-efficient to evaluate the risky
projects. The risk adjusted rate of discount is 16%, while the riskless discount
rate is 10%.

Year Machine X Machine Y

1 30000 0.8 118000 0.9
2 30000 0.7 136000 0.8
3 30000 0.6 | 24000 0.7
4 30000 0.5 32000 0.4

Which machine should be purchase?

Calculate missing figures in the following table:

Particulars Division X | Division Y | Division Z
Sales (Rs.) 2,00,000 1,20,000 1,50,000
Operating Income (Rs.) (?) (7) 50,000
Operating Assets (Rs.) 1,00,000 60,000 (7)
}ieturn on Investment (ROI) 20% (5% 10%
(%)

Minimum Rate of Return (%) (7 10% (?)
Residual Income (Rs.) NIL (7) 10000

Division Z of company is a profit centre produces four products A,B, C and
D. each product is sold in external market also. Data is as follows:

Particular Product A | Product B . Product C | Product D
External Market | 150 146 140 130

Price (Rs.)

Variable Cost (Rs.) | 130 100 90 85

Direct Labour | 3 4 2 3

Hours

Product D can be transferred to Division Y , But the maximum quantity that
might be required for transfer is 2500 unit of D.

The maximum outside sales are:

Product A | 2800 Units
Product B | 2500 Units
Product C | 2300 Units
Product D | 1600 Units

Division Y can purchase the same product at a slightly cheaper price of T 125
per unit instead of receiving transfer of product D from division Z.

What should be the transfer price for each units for 2,500 units of D if the
total labour hours available in division Z are: i) 20,000 Hours , ii) 30000
hours ?
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Section |l

QV

Attempt any five out of Ten:

1.

bo

[%)

p‘\

Net present Value =

a) Total present value cash mﬂow = Total Investment
b) Total present value cash inflow — Total [nvestment
¢) Total present value cash inflow x Total Investment
d) Total Investment — Total present value cash inflow

Higher the discount rate, the present value.
a) Increase

b) Decrease

¢} No change

d) Average

Under which method, cash flow of each year is re- invested?

a) Net present value

b) Pay back Period

c) Internal Rate of return
d) Terminal Value

Capital Investment Decisions are generally
a) Routine

b) Reversible

¢} Irreversible

d) Recurring

A company's ROl would generally increase when

a) Cost Increases

b) Assets Increases
¢) Cost Decreases
d) Sales Decreases

Residual Income =
a) Annual Profit — Cost of Capml
b) Annual Profit + Cost of capital
¢) Annual Profit x Cost of Capital
d) None of the above

Controllable profit =

a) Revenue —Fixed Cost

b) Revenue — Controllable Cost
¢) Contribution - Fixed Cost

d) Revenue — Variable Cost

Responsibility accounting is a part of,
a) Internal Reporting System

b) External Reporting System

¢) Corporate Reporting System

d) Global Reporting System

16
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9. Under method of __, two separate transfer pricing method are used.
a) Negotiated transfer pricing
b) Total Cost method
¢} Dual pricing
d) Market price method

10. Which of the following are methods of Transfer pricing?
a) Market based Pricing
b) Negotiated Pricing
¢} Dual Pricing
d) All of the Above
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ENGLISH VERSION

actions : (1) All questions in section-1 carry equal marks.
(2) Attempt any three questions in section 1
(3) Questions-9 in section Il is compulsory.

SECTION I

Derive the equations for Gyroradius and G

Gyrofrequency of a charged particle 11 moving in a
uniform magnetic field.

Explain how a converging magnetic field behaves as a magnetic Mirror.
Giving Maxwell’s equation, derive the equation of continuity and explain how it expresses
conservation of charge.

Explain the motion of a particle moving with velocity in the perpendicular £ and B fields

and obtain the equation for its drift velocity " = ‘37
Obtain Dispersion relation for transverse oscillations in case of a steady applied magnetic

field B = ¢ to the plasma. Derive the relation for group velocity and phase velocity.
What is Magnetoplasma? Explain the properties and forces acting on plasma when a

magnetic fieid is appiied o it

What is Debve lengih? Derive an expression for it .
of

Explain Neutron induced fission n detail.

With the help of a suitable figure, explain asymmetiic nuclear fission. Also define Mass Yield.

3

What is Mossbauer effect? Explain the experimental amwangement of Mossbauer effect.
Write a short note on nuclear reactors.

Write a short note on leptons.

Discuss particles and Antiparticles in detail.

Write a short note on Quark model.

~

Write a short note on the four fundamental forces.

]
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Wiite answer any eight questions :
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What 1s Pinch effect?

Write the Boltzmann H theorem.

S
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Write the equation for Larmor radius.

What are Alfven waves?

Write the unit of mobility of a plasma particle.

What Magnetoplasma?

Write the equation of Debye potential.

Complete the equation © ,, U>*
Define prompt neutron.

g ¢

How much energy is released in the

What 1s nuclear fusion?

Name ihe field particle of Gravitational mteraction.

Write the conservation law of Baryons.

Write is the spin of & Meson?

In which interaction is strangeness not conserved?
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Instruction : (i) "Attempt anj;;T HREE question;iﬁ Section-I.

(ii) Section-II is a compulsory section of short questions.
(iii) Notations are usual everywhere.
(iv) The right hand side figures indicate marks of the sub question.

SECTION-I

Attempt any THREE of the following questions :

Q-1

Q-2

Q-3

Q-3

Q-6

(A)
(B)
(A)

(B)
(A
B)

(A)
(B)

(A)

(B)

(A)

(B)

(A)

Define metric space. Let X be a metric space. Prove that A subset G of X is
open if and only if it is a union of open spheres.

Let X and Y be metric spaces and f a mapping of X into Y then prove

that f is continuous if and only if £!(G) is open in X whenever G is open in Y.
Let X be a metric space. A subset F of X is closed if and only if its
complement F’ is open.

In usual notation prove that set of real line R is a metric space.

Prove that Compact subsets of metric spaces are closed.

Let X and Y be metric spaces and f a mapping of X into Y then prove that fis
continuous at x, if and only if f(x,) —> f(x,) when ever x, — Xx,.

Closed subscts of compact sets are compact.

A mapping f of a metric space X into a metric space Y is continuous on

X if and only if f~'(V)is open in X for every open set V. in Y.

State and prove Weierstrass M-test. Show that £, (x) = ’x"(1-x) ;

x €[0,1] converges pointwise to a function which is continuous on [0,1].

Let (f,) be a sequence of functions in R [a,b] converging uniformly to f.

Then f € R[a,b] and h_r)gj J,(x)dx =] f(x)dx

Let (f.) be a sequence of continuous function on E < C converges
uniformly to f on E then prove that £ is continuous on E.

Let fysatisfy (1) £, € Dla,b] (2) (f,(x,))converges for x, € D{a,b]

i3

(3) /. converges uniformly on [a,b] then prove that f, converges uniformly on
[a,b] to a function f.

(P.T.0.....

State and prove Abel’s limit theorem.

s
f a7,
oo

e

171
171
[7]
[7]
i7]
(71
17
[7]

{71

(71

{7

17
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(B)
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X

Show that for ~1<x <1, jog(1+x) :x_iziﬂL?wI#“_jL(_l)

evaluate log2.

4

X

i
X

7

+ ... Hence

For every x € R, and n>0, prove that i(m_ Pae: { ”} =0y = m(l-x) < %
Kk

k0

State and prove Weierstrass Approximation theorem.

SECTION-II

Q: 9 Attempt any FOUR of the followings in short :

(H
2
3)
4)
)

©
(7

8)

Prove that X and ¢ are an open set.
Define : Metric Space.

If F is closed and K is compact then prove that & K is compact.

Define : Connected set.

Define Uniform convergence.
x X
Prove by Taylor’s series tan™ 3 s

1
1+ nx

(x = 0) continuous ? justify.

Is f£(x)=

Show that log2=1—i+i—l+...
2 3 4

7
X

X=X—m b e — e

7

{7
(71

{71



&

O

[\

Instructions: 1. All questions in Section —I carry equal marks.

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

W w o> wm o

>

68

ow

2. Attempt any Three questions in Section-I
3. Section-II is COMPULSORY.

Section I

Describe Gnotobiosis

Explain origin, establishment and importance of normal flora and describe
skin flora of humans

Write a note on toxigenicity as a factor of pathogenicity

Enlist factors affecting process of infection and describe host defense
Describe techniques to study epidemiology

Write in detail about epidemiological markers

Write a note on types of vaccine

What do we mean by nosocomial infection? Describe the steps that can
prevent nosocomial infections

Describe collection and transport of clinical specimen

Describe Microscopy as diagnostic tool

Enlist serological techniques available for diagnosis and describe ELISA
Write a note on Pathological changes in blood and body fluids that aid in
diagnosis of infections

Write a note on tuberculosis (Etiology, Symptoms, diagnosis, and
prevention)

Describe Dengue

Write a note on Anthrax

Describe symptoms, complications and treatiment of AIDS

Section I

Answers the following in 1- 2 lines (Any 8)

~J
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12
13
14
15
16

= 4652
What is invasiveness?
What is role of normal flora of intestine?
What do we mean by reservoir host?
Enlist adherence factors that help in pathogenicity
What is DPT?
Name two hazards of vaccine
What is CDC and where is it’s headquarter situated?
Give contribution of John Snow

How will you preserve stool sample?

What is oedema?

Name two biochemical test that can be confirmatory for Proteus vulgaris
Give two uses of computers in clinical laboratories

Mention primary symptoms of syphilis

What is the difference between typhoid fever and salmonellosis?

What is the treatment for rabies?

How Hepatitis A can be diagnosed and prevented?
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wetions © R = 1.987 Cai-d@g*l\/ﬁ@i’ = 8314 | Mole . deg’
N = 6.622x10"Miole
g = 6.623x10-7 erg.sec = 6.623x10-™ J.sec
C = 3-0x10 c¢m sec' = 3.0x10° M.sec
7 = 96500 Couiomb

Explain the third law of thermodynamics. How it is used o determine

the absolte entropy of solid?

A solution containing 7.5 gm of urea (Mel.mass = 60) in one kg of water fieezes ¢ i the
same temperature as another solution containing 13 gm of solute (s) 1n the same amount
of water calculate the molecular mass of solute (s)

(} 0027, :
Derive equation K, 1 P Thermodynamicatly.

The equilibrium constant Kp for the reaction C,H,, +H z(ﬁﬁ““ C,Hgy is 5.04 x10" atm

at 27°C caleulate AG® (R = 8.314).

Write note on decomposition potential and mention its importance.

z,cl, HCQSO4 ‘ q
Cale o £ ~f Eallawing ce Y800 7. c
Caiculate e.m.f. of following cell at 25 C Zy 05m 0 tm
Activity coeflicient of C 5M zncl, and 0. 1M cdso, are 0.370 and 0.130 respectively

(B o™= 0.76 voif;,, E® yegn™ ‘{}A@ volt)
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ransierence.

e
Calculate liquid junction potential (L.J.P) and ex.f of cell at 25°C temperature {t, = 0.80)
the cell is given below
+ L S"’%’ r‘(’\ fY"“' — A 4 3
Pi 5 ) Sl ,(/ﬁ' (0 =0.0D | H ,CI {0’2 ”‘@“}}’luz(m—m)it*
Discuss reverse osmosis method for de-salination for water.

How many gram of chlorine can be pmdc ced by electrolysis of molien Na(l at a current
of 10 ampere for 5 minutes?

Woeite o ¢ 1 e
V‘fﬁu@ 2 noie O ZEeoirs J“C iiG’dﬁQ MRXTUYCS.

Write a note on steam distiliation.

Write a note on phosphorescence and chemijumin escenc
What is quantum yiled? Give resons for high and low quanium ¥
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-
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Aunswer following in short (any ight)

(1) Define Boiling Point
(2} Define Molal depression constant (XD

(3} Define Colligaiive properties for solution

(45 Inasclution mole fraction of solute is 0.37, then what will be mol fiaction of solvent?
{5} Whatis concentration celi?

(6) Whatis liquid junction potential

(7} Define over voltage.

{8 ) Which solution is filled in salibridge?

(9) Define osmotic pressure

(10)  Define hard water.

(11} Define Eutectic Point

(12} Give Phase-rule.

(13}  Give Eingtein’s law of photo-chemistry
(14)  What is meant by fluarescence?

(15)  Define piting corrosion

(16)  What is corrosion inhibitors?
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SECTION--1I
QUE-9  &sHl el Al (818 ugLAR ) (08)
(1) US55 5210t ANed g?

) 2UesABSHL sl vl

(3) NBPGRoj Y3 ol Gudl .

(4) AR d 5 : gloactlSdlet

(5) ctotrufRl Actlet 1l oles uruld s Aestael g 82
(6) ctotrulAell AHLeA & 5 E1L

(7) astrulds cudsaq2a g2

(8) Lot gl Hiucll el Al tete] st All
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BOTANY-309, B.SC. Sem-VI, Supplementary Exam, October-2021

INSTRUCTIONS: (i) Attempt any three questions from section-1
(ii) Section-1I is compulsory

SECTION--I
QUE. -1 What are plant regulators? Describe Biosynthesis, translocation and physiological
functions of Gibberelins (14)
QUE. -2 Write short notes: (1) Hydrotrpism (07)
. (ii) Factors affecting plant Growth (07)
QUE. -3 Describe : Aims and Objectives of plant breeding. (14)
QUE. -4 Describe : (i) Pedigree method for Hybridisation. (07)
(ii) Procedure of plant introduction 07)
QUE.-5 What is gene mapping? Giving its concise account describe any one Method
of it. (14)
QUE. -6 Write short notes: (i) Transposable elements (07)
(ii) Mitochondrial genome 07
QUE.-7 Describe Application of Biotechnology in Health and Agriculture (14)
QUE.-8 Write notes: (i) Edible vaccines (07
(i)Artificial seed (07)
SECTION--11
QUE.-9  Answer very short (amny four) (08)

(i) What is microinjection?
(ii) Write functions of alkaloids.
(iii) Give full form of NBPGR.
(iv) Define: Translocation
(v) What are disadvantages of bulk method of plant breeding?
(vi) Draw:Normal growth curve of plant
(vii) What is plant senescence.
(iix) Write name of instrument used for measurement of plant growth
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Gujarat University Off line Examination

= bte -2

B. Sc. Semester-V1

Zoology Paper-309 (OLD and NEW Course)

Time: 2 hrs.
Instructions: 1) All questions in Section I carry equal marks.
2) Attempt any three questions in section L.

3) All questions in Section II are compulsory.
Section:I

Q.2

Q.3

Q4

Q5

Q.6

Q.7

Q.8

Q.9

(A)
®)

(A)
®B)

(A)
®)

&)
(B)

A)
B)

(A)
®)

(A)
®)

(A)
)

Write note on: Unsaturated fatty acids with suitable examples.
Describe: Temperature and pH as factors affecting enzymatic activities.

Write outline classification of lipids with examples.

Write note on:  Nomenclature and classification of enzymes.

Write note on Glycolysis.
Write note on Glycogenesis.

Write note on : Stages of Kreb’s cycle.

Write note on: Glycogenolysis.

Show the calculation of ATP synthesis from total combustion of 1 molecule of

Glucose.

Write note on: HMP shunt pathway.

Write note on: Synthesis of glucose from Fructose.

Write note on: Cori cycle.

Write note on: Deamination.
Explain: Glycerol metabolism

Explain: § Oxidation.
Explain: Urea cycle.

Section:1i

Answer in brief as per instructions.

% N kY

Name any two alcohol involved in structure of simple lipids.
How much energy will produce on combustion of 1 gm of lipids?

Explain the term: Apoenzyme.
Explain the term: Glycogenesis.

Write structural formula of Fructose 6 phosphate.
Write structural formula of Phospho gluconic acid.

Explain the term: T ransamination.

How many ATPs produce as a result of com

~

Total Marks: 50

(7
(N

Q)
(7

(7)
)

(7
(7
(7
Q)

Q)
Q)

(7

(7
(7

®

bustion of B oxidation of Palmitic acid?
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Instructions:

e All Questions in Section I carry equal marks
e Attempt any TWO questions in Section I
e Question V in Section I is COMPULSORY

Section |

A_What is Production Management? Discuss methods of 10
production in detail.
B. “Production planning and controlling necessary in production”. 10!
Discuss the functions of it in detail.

QI

A. What is purchasing? Discuss its principles in detail. 10
B. Discuss purchasing procedure in detail. 10

QI

Explain — “Deming’s 14 principles of quality”. 10
Discuss layout with its types in detail. 10]

QI

SIES

Explain — “Japanese 5s Approach”. 10
Discuss Lean production with its elements in brief. 10

QIv

w[>

Section I

Qv |MCQs. (Any 10) 10
I. Production of large planes like Airbus is example of type
of production.

(a) continuous (b) intermittent (c) project (d) job-shop

2. s not one of the functions of production planning and
control.

(a) Estimating (b) Work-study (¢) Routing (d) Loading

3. Objective of work-study is to determine the best ___ _of
performing cach operation in production.

(a) location (b) place (c) layout (d) method

PTwo
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4. One of the objectives of production management is
(a) reduction of wastage (b) advertising (c) issuing of shares (d)
brand building
5. A softwarc-hardware system used for optimum utilization of
company’s resources is called __ system.
(a) MRP (b) Shingo (c) Toyota (d) ERP
6. MRP means __ Requirement Planning.
(a) Machine (b) Manpower (c) Material (d) Management
7. is a factor affecting the design of layout.
(a) Marketing (b) Market (c) Machinery (d) Mechanics
8. is not a material handling equipment.
(a) Truck (b) Crane (¢) Lift (d) Drilling Machine
9. is a generic standard of quality primarily concerned with
environmental management.
(a) ISO-9000 (b) ISO-14000 (c) ISO-8402 (d) ISO-22000
10. One important aspect of purchasing is to purchase raw material
having the
(a) right quality (b) right packaging (c) right color (d) right
shape
11. Which of the following is not an advantage of using product
layout?

(a) Minimum material handling cost (b) Minimum inspection
requirement (c) Specialized supervision requirement (d) None of
these

12. Which of the following does not cause to production delay?
(a) Shortage of space (b) Long distance movement of
materials (c) Spoiled work (d) Minimum material handling
13. Which of the following is not a part of Five M’s?
(a) Material (b) Machine (c) Motion (d) Method
14. ERP means resource Planning.
(a) Enterprise
(b) Entrepreneur
(c) Earing
15. JIT 1s known as

2. Just in time b. Just input time c. Just in tendency

D
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Q1 {A) Define cloud. Give advantages of cloud computing. Explain mainframe computing, cluster

computing and grid computing. {10}
Q1 (B) Explain web 2.0. Describe vision of cloud. Explain various computing platform and technologies of
cloud computing. [10]

Q.2 {A) Explain parallel processing. Give factors that influence paralle!l processing. Explain Hardware

architecture for parallel processing. [10]
Q.2 {B) Explain components of distributed computing. Explain system architectural styles for distributed
computing. [10]
Q.3 (A)Explain virtualization. Give advantages and disadvantages of virtualization. [10]
Q.3 (B)Explain hardware-levelvirtualization. [10]
Q-4 (A)Explain different types of cloud with example. (10}
Q-4 {B)Explain Infrastructure as a Service and Software as a Service architecture. [10]
Sectionli
Qs mMca [10]
1. Service-oriented computing include which concept
A. Quality of Service C. Both Quality of Service and Software
B. Software as a Service as a service

)]

D. none of these
is developed as aggregation of geographically dispersed clusters by internet.

A. Grid C. Cloud

B. Service D. All of the mentioned

SOAP full form

A. Simple Object Access Protocol C. Simple Orient Access Protocol
B. Simple Object Access Program D. Simple Orient Access Program
A encapsulatesasoftware component which provide a set of related
functionalities that can be reused and integrated into big and complex applications.

A. Cloud C.Both Aand B

B. Service D. None of the above

Services are designed as self-contained compaonents. (T/F)

A, True B. False

o _isa collection of independent computersthatappeartoits users as a single system.
A. Distributed System ' C. Hybrid System

B. Service D. All of the above

_ismost privileged ring.
A.Ring 0 B. Ring 1
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C.Ring 2 D. Ring 3

Full form of ABi is

A. Android Binary Interface C. Application Based Interface
B. Application Binary Interface D. None of the above

When you add a software stack, such as an operating system and applications to the service, the modeishifts
to _____model

A.SaaS C. laas

B. Paa$ D. All of the mentioned
_______ provide programming levelvirtualization.

A VM C.Both Aand B

B. .NET runtime D. None of these

wackk ALLTHE BEST #*%*

Page2 of 3
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Instructions:

1) All questions in Section-I carry equal marks
2) Attemipt any two questions in Section-I
3) Question 5 in Section-II is compulsory

SECTION-I
Q.1 {A) Discuss : File Class and Randorn Access File Class [10]
(B}What is Character Stream? Explain the methods of Readerand Writer class. 1101
Q.2 (A) Discuss JRadioButtonand JCheckBox indetail with their methods and constructors. [10]
(B) What is the use of Layout Managers? Explain Borderlayoutand GridLayout . [10]

Q.3 (A)Explain the Delegation Event Modelwith diagram. Also explain the Event classes definedin

java.awt.event {10]

(B) Discuss: DatagramPacket and DatagramSocketin detail. [10]

0.4 (A) Explain the following types of drivers {10]
® JDBC-ODBCBridge driver
® JDBC-Net-Ali-Java Driver

{B) Discuss the DriverManager class for creating connection. [10]

SECTION-II
Q.5 Answerany5 {10}

1. The process of conversion of an objectto a byte is called _

{a)Serializable (c) Conversion
{b}Serialization (d) All of above
2. Give the full form of AWT.
{a}Applet Window Toolkit {c} Abstract Window Toolkit
{b)Absolute Window Toolkit {d)} None of above.
3. Which class represents an Internet Protocol(1P) address?
{a) InetAddress (c) IP Address
{b) Address {d} None of the above
4. Jlabelisaconcretesubclassof ___
{a) AbstractButton (c)Window
{b} JComponent (d) JPanel
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5. URLstandsfor

(a) Unified Resource Locator (c) Unified Restore Locator
{b) Uniform Restore Locator (d) Uniform Resource Locator
6. Whenan SQL statementis executed , the results are storedin ______object.
(a}Resultset (c)Applet
{b)Distributed object (d) None of Above
7. Which package in Javais used to handle networking aspects?
{a)java.utii (c}java.net
{b)java.applet (d)java.io
8. JFrameisasubclassof ___ __class.
(a)Dialog {c}JComponent
{b)Panel (d)Frame

9. All methods of Readerand Writer ciass throw
(a) IOException
(b) Null Pointer Exception
(¢} Arithmetic Exception
{(d) ArraylndexOutOfBound Exception
10. How many bits are in a single IP address?

(a) 8 (c) 64
(b) 32 (d) 16
,.—-—\>< e



Candidate’s Sear No -

]

Instructions to the students:

1. There are two sections in the paper. Both the sections are compulsory.

2. Attempt any THREE questions from the FIRST SECTION.

3. SECTION TWO is an MCQ based question. Attermpt all the questions. Choose the
closest option in meaning to the guestion.

PART ]

Q-1.  Compare and contrast Bharata’s views on “Anukarana” and Aristotle’s views on
“Imitation”. (14)

Q-2.  Bring out the relationship between poetry and painting with special reference to Pre-
Raphaelite poetry. (i4)

Q-3.  “The form of cach work of art is unique or individual.” Justify with reference to the
cssay, What is Common to the Arts? (14)

Q-3. “Dance is my breath, my passion, myself”. Elaborate the statement with special
reference of Mrinalini Sarabhai’s autobiography The Voice of the Heart. (14)

Q-4.  “Rhythm is used in all forms of art where there is a movement.” Justify.  (14)

Q-5. “Poetry is painting in words.” Elaborate the statement with special reference to The
Blessed Damozel. (14)

Q-6.  “lam only Eternity when I dance”. Illustrate the statement with reference to The Voice
of the Heart. (14)

Q-7. Compare and contrast Bharata’s views on “Anukarana” and Aristotle’s views on
“Imitation” in your words. (14)

Q-8.  Elaborate the statement “Poetry is verbal and painting is visual” in your words.
(14)
L

PART - 1I COMPULSORY

Q-9. Multiple Choice Questions: ¢8)

I. Both Bharata and Aristotle are primarily concerned with
imitation.

_and the theory of
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(a) epic (b) tragedy (c) drama (d) comedy
Bharata’s idea of imitation is governed by the principles of the theoryof
(a) Bhava (b) Vibhava {c) Anubhava (d) Rasa

The Blessed Damozel was first published in

(a) Lit Cnt (b) Spectator (c) The Germ (d) The Expression
__enchanted Mrinalini with the powerful technique of Kathakali.

(a) Ravindranath Tagore {(b) Kelu Nair (c¢) Venu Gopal d)
Shantidev Ghosh

Mrinalini Sarabhai edited a magazine called .

(a) Ganga (b) Prama (c) Prakriti (d) Geeta
Darpana Academy of Performing Arts came into beingin .

(a) 1949 (b) 1947 (c) 1950 (d) 1955

The term ‘mimesis’ is used by Plato in hisbook

(a) Poetics (b) Republic (c¢) Reunion {d) Aesthetics
Bharata’s idea of imitation is governed by the principles of the theory of
(a) Bhava (b) Vibhava {c) Anubhava (d) Rasa
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Answer any Three of the following questions.
1 ol Al R et v QUL Yauss0lol 2atctdl 531 0.05 wds el saun Yo

=
29
[
2
]
o]
g
T

&
197
ey

YRscustiell ustugll 5. 14
Carry out analysis of variance from following data and test the null hypothesis at 0.05
significance levei.
Ay (233 Ay (SL4)
Ay (Urban) A2 {Rural)
B¢ ([Qetauat) B, ([Qsuay) Bq ([Qotst) B, ([Asua)

Bi {Arts) B2 (Science) By (Arts) B, (Science)
Co(Bl5210) | Co(Bl5A) | C(AsAAY | C2(BlsAA) | CBLSRRA) | Co(SlsTRAY) | C(ELsRAAY Ca(8s31A
Cy(Boys) C»{Girls) C+(Boys) C,{Girls} C+{Boys) Ca(Girls) Cq{Boys) Ca{Girls)
05 11 04 04 03 01 09 06
10 10 06 04 10 06 06 04
12 09 02 07 04 04 08 05
11 07 05 02 06 05 04 06
10 06 03 08 07 09 02 04
2. wddeoll sl Gulol 531 o1 WA B wrell [QauRgLll wxzudl usL 14

Test the homogeneity of variance of the following data by using Bartlett's test.
°§9ﬂ {Groups)

{ H ] v
20 07 30 15
27 12 25 10

19 10 20 22
27 22 12 08
20 20 17 04

3 ol el gl uzell wdor dedieit gaisell ol 53 A §
HollelRoll seled Weds uolu wHRloyetoll sau wd 872 14

Calculate contingency correlation co-efficient from the frequencies given bellow and find
out if level of Anxiety significant relationship with level of Adjustment?

HollelR UHRA % (Adjustment)
(Stress) (Lot (Low) | ALHloA (Moderate) | GRU(High)
[olaot { Low) 05 15 10
UMl (Moderate) 10 22 08
GU(High) 12 15 03
e
4, () oA A A6l uRell AHR s Uil (rt)oll 2Rl 521, 07



5.

(A) Compute Tetra choric Correlation{rt) from the table given below:
uBdcl - Y (Varisble - y) WRaed - X (Variable - X)

Social adjustment Salesmanship

WAUSN (unsuccessful) Us N (successful)
ART A B (Well adjusted) 10(B) 40(A)
U WAUBct (Poorly adjusted) 35(D) 15(C)

(o) N5 YoAAHL UB-3 ol YR-591 B2Cll BBl Bl wlel ol oll elloll iRl A ol
oot B, il 1R A well 518 usdivitlsell alalctdl 53| U Yot URscUstloll ustugll
0.05 U5 clioll saul s, 07

(B) Shown below are the number of personswho answered ‘Yes’ or ‘No’ to question - 3 and question-5
of a questionnaire. Calculate the Phi-coefficient of correlation fromthis Data and testthe null
hypothesis at0.05 level of significance.

ysl - 5 Y# — 3 (Question-3)
Question -5 il (No) &l (Yes)

&l (Yes) 15 (B} 45 (A)

alt (No) 40 (D) 20 (C)

o8 W WG uzell Rcdlat aid@d Bls Ros s izl Yot URsCuUotlol usiell 5. 14

Test the null hypothesis by using Wilcoxon matched pair Sign ranks test from following data.
1] 213|456} 7819110

BLeAN USCl(Before Study) |12 | 18 | 29 | 13|13 [19| 17 | 16| 20 | 21
VAR GULE (After Study) 17117 124 | 13|16 18| 19| 28 | 26 | 26

A2 e R gL SRt ‘@ 5AAA Gulat 53 Yt URsCUetell Asdll 52U 14
Test the null hypothesis by using Cocharan Q test from following data.
uglddl
1 2 3 4 5 6 7 8 9 10
(Methods)
[ i 0 i 1 0 0 1 0 0 0
i 1 1 1 1 1 1 1 1 1 1
L 1 1 0 0 0 1 0 0 0 1

AUd@ct s2ctl AR geletl YARAUAR AR YELYEL URERRAML AA YHIL Yidlsl Ancl.
5655 Nototl sriscell BHw(l Qe Qauy < UR @R a2etl dslatctoll udsdl 0.05
seil UsLAL. 14

Subject of four matched groups obtained the following scores under the Four different
Conditions. Carry out Frideman'’s two way analysis of variance rank test. Test the significance
of the conditions at0.05 levels of significance.

Conditions(K)
Groups (N) | I m v
A 13 25 42 38
B 40 28 25 14
C 37 33 44 36
D 45 54 31 18

(P.T.0.)

g s HAAsUBs 5AE UR YU~ A(N=10), %Y B(N=7) ¥ (U C(N=5) &l Ylleyliedisl

A wlded B. sesct @y sAEA GuanaL 53 A U scustiell usiugllsA 3 yllwiell
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The scores on a psychological test obtained by Group- A(N=5), Group- B{N=7) and Group-C
(N=10) have been given bellow. Using Kruskal-Wallis test verify the null hypothesis that the
three groups of the subjects come from same population and also interpret your finding.

1——g'roups Scores
A 27 19 31 29 24 § 30 | 28 34 | 221 43

25 17 15 | 21 | o8 | 13 | 18
C 17 iS5 23 | 16 | 10

o]

Qelol - 2 (Section - 2) (08 Marks)

oflDetl YAleoll ettol VUL, (SIEURLUR)
Answer the following questions {Any Four} 08
(1) B- =l [aure ERRREENE sisstarllal wybl 8. (uada Qe a@a)

Three-way analysis of varianceisa_______ statistical method. (Parametric / Non-parametric)
(2) 58 wdscloll s&U Qs atd RQawela (Ga) uds aeldl seil sél aAstA? (0.10 / 0.03)

Which significant levels can be called the most reliable (Higher) level of significance? (0.10 / 0.01)
(3)wd} Qe Bnct st 512 s uc 8 dlal e gt ulR gcuotlol cll51R A B, (U3 1 Wig)

The null hypothesisis accepted when the table value is larger than the calculated vaiue. {True / False)
(4) wURldL useLHLs (C) URlart NN wsdolu vt B, (wulda s @Qatyruf@ay)

The contingence of coefficient (C)testis a_ correlation method. (Parametric / Non-parametric)

(5) Blauret ‘@ sALL A Us yrau@a ul@ B, (3 / vi)

The Cochrane 'Q' test is a Parametric method. (True/ False)
(6) 538 afda As-1oll Qure @QeAne P uslagl (sW3) ueL s WA B, (W37 WE)

The Kruskal-Wallis one-way analysis of variance is also called the ‘F’ test. (True/ False)
(7)ot (B adls Sla R Yo uRscustl aclslz wa, (w3 / W)

When calculating value is significant, Null Hypothesesis accepted. {True / False)
(8) R 2R ot WRaddl sl A8 U aclsll A AL sl 8l QA aoll uzsctel Aogetl ___ oot

(2x3x2 | 2%2%2)

if there are three independent variables and there are two levels of three variables then its factorial
design becomes L (2%x3x2 [ 2%2%2)

e
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(9) ‘eurdul e ww sl ams 9. (wasralg <83, uld Yereww)
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ENGLISH VERSION

Instructions : (1) Figures 1o the right indicate Full Marks of the questions.

SECTION-I

Answer any three :

Write about the sources to know the history of Freedom Movement in Gujarat.

Kl

e

. e .
etch the role of Cyjarat in 1857 Revelution.

aiw R Vil G ia

Sketch the activities of Swadeshi Movement in Gujarat.

Discuss the activities of Congress in Gujarat (1885-1947).

Explain in detail about Kheda Satyagraha.

Explain an importance of Dholera Satyagraha.

Narrate the activities Prajamandal in princely states of Gujarat.

Narrate the activities of Fulchand Shah in Freedom Movement of Gujarat.

e
ES

ok

3y
w7

o~

@

SECTEON-II

Zem e T Tmon £ N
A\Lx FHE ¥ tw UAC&;AI\D \CL.‘\AJ iuwx/ -

14

14

14

14

14

14

14

Ng
fe147

..... 18 the author of Home Rule Movement in Gujarat, (Jaykumar Shukal, Makarand Mehta)

ceceeecenerw 18 the author of Gujarat in 1857, (R. K. Dharaiva, R. N. Mehta).

Vadodara Prajamandal established in ............ .. year. (1916, 1920).
Gujarat Sabha was founded in .......... vear. (1884, 1886).
Swadeshi Movement started at ............... (Bangal, Bihar).

aaaaaaaaaaaaa ..... leader was associated with Dholera Satyagraha. (Amrutlal Sheth, Fulchand Shah).

cveevieenc. 18 the author of “Bharat ma Angreji Raj. (Jawahrlal Nehru, Pandit Sundarlal).

The First Convention of Congress met at ............... (Mumbai, Kolkatta).
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POL- 510- EA- ANCIENT AND MODERN POLITICAL THOUGHTS ~-SEM-4 {R) OCTOBER --2021

Time: 2:00 hours Total Marks: 50

PART-1

NOTE: All long question carry equal Marks (Any three out of eight) 14X3=42

Q. 1 Write an essay on theory of State according to Aristotle.
Q. 2 Discuss the idea on democracy according to Aristotie

Q. 3 Discuss the theory on power according to Machiavelli.

)

. 4 Discuss in detail “the prince”

[®)

. 5 Discuss the thought on administration according to kautilya

o

. 6 Examine the views of Kautilya on Justice

Q. 7 Discuss the theory of justice according to john rolls

[®)

. 8 Explain the importance of theory of justice according to john rolls
PART-2

Q-9 Short Question (Any four out of eight) 4X2=8§

1. State the ideas on state according to Aristotle

2. State the ideas on Citizenship according to Aristotle

3. State the duties of the king according to Machiavelli.
4 Write the ideas on state according to kautilya

5. What are the principles of the chanakya?

6. What are Rawls two principles of Justice?

7. When john rolls wrote ‘The theory of justice '?
8. Who is Chanakya?
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Attempt any three g
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weroth

20
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R«B

.

¢ (1) Figures to the right indicate Full Marks of the questions.
(2) Write answer of any three questions in Section-1 and

pe

Write answer of any four questions in Section-iL.

uestions from the following questions :

i i
Discuss the market failure and the role of government in Indian Economy.
na nealth care in India.

Discuss the health care reforms i India?

Examine the potential role of user charges and community financing scheimes.

Explain the special characteristics of eduction in India.
Write a note on formal and non-formal eduction in India.
Whrite a note on Indian Education system.

Discuss the role of private and public sectors in education sector in India.

Answerl in 2-3 lines (any four) :

LG

{25 What s marginal Cost?
(3} Whatis mix health systern?
{4 Wahtis primary education”?
{5 ) Whatis human Capital?

14

14
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Q.1 Answer the following questions any Six out of Twelve. 42)

Q.2

L.
2.
3.

s

A S A

10.
11
12.

Discuss the needs of teaching aids in teaching of science and technology.

State the importance of science laboratory in teaching of science and technology.
Discuss the criteria for selection of teaching aids for Teaching of science and
technology.

Explain importance of students’ workbook for teaching of science and technology.
State characteristics of textbook of std.9 of science and technology.

Discuss the importance of reference material in teaching of science and technology.
State establishment of science club in science and technology.

Discuss the difference activities in teaching of science & technology.

State the importance and characteristic of correlation of science and technology.
Describe Bohr’s model of the atom.

Derive the equation of kinetic energy of a body.

Explain in detail the refining of petroleum.

Answer the following questions of any Four out of Eight. (08)

1.

.t\.)

® N kW

State the importance of teaching aids in teaching of science and technology.
State the limitation of audio aids.

What is teacher’s handbook?

State any onc importance of herbarium.

State needs of science and technology club.

State importance activities in teaching of science and technology.

What is looming?

What is called a stationary (stable) orbit?

,—’—><‘;/—\
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General Instructions:
(1) This question paper contains TWO Sections: Section ~ I and Section — IJ.
(2) It is compulsory to attempt both the sections.
(3) Read the instructions given for each section carefully.
(4) Please mention clearly the options you attempt.
(5) Figures to the right indicate marks.

SECTION -1

Attempt ANY THREE of the following:

1. Discuss in detail Matthew Amold’s views on Criticism. 14
2. Explain T. S. Eliot’s views on True Criticism. 14
3. Write short notes on: 14

(A)Matthew Arnold’s Touchstone Method
(B) T. S. Eliot’s Theory of Impersonal Art of Poetry

4. Write a detailed note on Tacques Derrida’s Theory of Deconstruction. ‘ 14
5. Describe in detail F. R. Leavis’ conception of Business of Communication. 14
0. Write short notes on : 14
(A)F. R. Leavis’ Conception of Literature
(B) 1. A. Richards’ views on Nature of Poetry
7. Write short notes on Any Two: 14

{A) Anandavardhana’s concept of Dhvani

(B) Three Levels of Meaning - Abhidha, Lakshna, Vyanajana
(C) Vastu Dhvani

(D)Rasa Dhvani

Jomarh
Ba

8. Write short notes on Any Two:
(A)Ecocriticism
(B) Cultural Studies
(C)Magic Realism
(D) Structuralism

£
N
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SECTION - 11 E ™ =~
Choose the correct answer from the options given below each of Marks — 08
the following statements. Attempt ANY F OUR of the foliowing.

(1) “On Translating Homer’ is a printed version of the series of public lectures given by

(a) T. S. Eliot
(b) Matthew Arnold
(¢) I A. Richards

(2) “The Sacred Wood’ is a collection of essays by
(a) T. S. Eliot

(b) F. R. Leavis
(¢) Jacques Derrida

(3) According to 1. A. Richards, poetry speaks not to the mind but to the
(a) sentiments

(b) emotions
(c) impulses

(4) F. R. Leavis defines ~as “a way of living, ordered and patterned’.
(a) morality
(b) society
(c) culture

(5) Jacques Derrida’s book introduced the majority of ideas influential within
deconstruction.

(a) ‘Of Grammatology’

(b) “Of Philosophy’

(¢) “Of Criticism’

(6) The basic principle of ‘Dhvani’ is innate in the
(a) ‘Alamkar-vada’
(b) *Sphota-vada’

{¢) ‘Rasa-vada’

(7) New Historicism developed primarily through the work of
(a) Stephen Greenblatt
(b) Stanley Fish
(c) Allen Tate

(8) The term ‘Magischer Realismus’, which translates to "Magic Realism’, was first used by
art critic Franz Roh.

(a) French
(b) German
(c) Russian
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ENGLISH VERSION

Instructions : (1) Figures to the right indicate Full Marks of the questions.

SECTION-I
Answer any three of the following questions :
Discuss the Pedophilia and Rape as a sexual abuse.

Discuss the dysfunction of sexual desire.

Explain the meaning of sex instinct and art of love (sex).

Explain the foreplay in detail. |

Write about frequency of intercourse and planning of first child.

Discuss the age of marriage and sexual adjustment.

Discuss the use of condoms and contraceptive pills as a methods of family planning.
Discuss the AIDS and Syphilis.

SECTION-II
Answer in short (any four) :
(1) The importance cause for Pedophila is lack of sexual contact. (Yes or No)

(2) The Rapist Male’s selection of Woman is on base of her beauty. (Yes or No)

(3) Whatis defloration?

(4 ) Mention stages of sexual intercourse?

(5) There is certain relation between the age of marriage and amount of divorce. (Yes or No)
(6) Whatis the best age of marriage ? (20 to 22 year, 24 to 26 year)

(7) Give the full name of STD ?

(8 ) Give the name of different methods of family planning.

14

14

14

14

14

14

14

14

08
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AL : IRl Slual st sl ctod AL
Answer any three from the following

1. gl ¢ G-l wirtaadd W adl ol d A R aglal. 14
Describe any two effects of temperature and atmosphere on human behaviour.

2. Ald Gt Hia sdect A ABUES ad uR adl 2 A uul 52114
Discuss the effect of excessive level heat on performance of human and social
behaviour.

3. sAdUd vastel v A (AN 2yl ). 14
Explain personal space and culture in detail.

4. BHHARNRA g BFHL UR AR A e ¥ Besi R uul s 14
What is territory ?discuss the dominance on the territory and consequence of territorial
disputes

5. adl-l st 4l USRL Al BUsHS AL 41 2R UR adl 244 (A uul 521,14
Describe the effects of kind of high density of population on aggression and physigue.

6. ctiot dunill ana-dl (afluct-l 24R arfdl. 14
Explain effects of long learn high density.

7. "yylarerl H-Al[Astir 243 vala -l i qHendl. 14
Explain environmental psychology and saving the environment .

8. wularet oryauylsadl uylsa dils weil@seid Hecd Anndl. 14
Explain the importance of reinforcement technigues. as a measure to save environment.

9. 1A e Qe Hizll vl [Ased aull (sl ueis) 8
Give correct answer of given options(Any eight)

1Al 2181 et Brtcttd Beet bRegle el 8 ?

¥What is the normal temperature of the human body in Fahrenheit ?
A) 90.0"F
B) 98.6"F
C) 88.6"F

PToo
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D) 91.2"F
2. GAloUHi Ggddt [@As1RME R+l clldl sl Lag L & ?
Which disease is more common due to heat in summer disorders ?
A) sHU (jaundice)
B) 2ids\ds (typhoid)
C) u-Rels (sunstroke)
D) Aalu (malaria)
3. 5L AL £€1AA Al
AULCRQIHL AR Al yobell
Wg?
Which disease patients have difficuity breathing in
humid environment ?
A) 3= (Cancer)
B) i@l (Arthritis)
C) Ads (Aids)
D) Rdi(Asthma)
4. 114l egHA ¥ ad- su uRetollefl asig el & ?
What factors determine a person's territorial behaviour ?
A) u-0dsui[s (psychological)
B) Anu®s Airg(as (social-cultural )
C) AURURS (chemical)
D) diiall ¥ls url 4&l (None of these)
5. A URU BUAURAAL lHIH 2462 HI BE A2 --rmmreme
means all invisible limits surrounding us.
A) dulsasaasiol (personal contact)
B) didAulsas Aus (interpersonal contact)
C) &gHd HEe (territorial area)
D) wHy [Asti (social science)
6. Sl Yrels” BUAHet -5 At i waHaR AUlEAs 2Loe A GuRllaL 2l &l ?
The concept of personal space was first used in whose book "animal and man* ?
A) Ad (bell)
B) ($l2 (Griffith)
C) sl (katz)
D) QuaR ( pepler)
7. Alt At AL HA WHIRL EHA HAD MR e HEAL SRIYAUB & ?
According to altman territory provides important functions for human.
A) AR (four)
B) As (one)
C) A (two)
D) uid (five)
8. RS g FoHE el 1l 2(AellsA 51281 oiell sl Hi beatl Als1A duel -t el &t ?
How many people iost their lives in the incident of overcrowding in the bath of Nashik
sinhastha Kumbh ?




Euqe-?

A) 100
B) 25
C) 30
D) 150
9. u(Q ellsl AUURAL AHEURY ~-mmmme YR sl L),
The effect of overcrowding was studied on
A) didR (Monkey)
B) udl (Human)
C) AuYEL (Mass community)
D) GeR (rat)
10, aecll-ll 2R At WS AL A i3l BieARD 51 sUl &tk ?
Who conducted the studies regarding the effects of kinds of high density of population ?
A) ¢ &l elat (ET.Hall)
B) slegl (Calhoun)
C) gs-l (Edney)
D) dide 241 oG- (worschal and brown)

1. vafarel -l &§ A ALY
How many types of environmental prompts are there ?
A) EPA
B) EAP
C) CPA
D) ESP
12, valaRel Bart s GaciHi A 8 ?
When is Environment Day celebrated ?
A) 1
B) 19 AR
C) 053
D) 10 A210R
13.yrola- Q@ 3ect us-l & ?
How many types of reinforcement process are there ?
A) A(two)
B) AR (four)
C) 8 (six)
D) U6 (eight)
14. o {lARAL AL AELA e USR-L B5HA UEl sEau B ?
Parks and playgrounds are types of territory.
A) & (public)
B) (adl(secondary)
C) uwy(&s (collectively)
D) wels (public)
15. el ¢l wY (5 dlls - A A euesetal 1A Rst uR AR 8.

PO
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as a measure of saving environment is based on the principle of social
psychology .

A) Haeg-uRad-(Attitude-change)
B) iad(Conflict)
C) ue@strel(Reinforcement)
D) ial s uet 48l (None of these)
16.1966 M Sl Het WHIQL QUEA AL AlciaRRAL A 1] AicRBuL 53 8 ?
1966 According to whom a person interacts with his environment in two ways 7

A) AHR(sommet)
B) Qct(Bell)

C) &s-l(edney)
D) RSlaygrifhth)




Y2y

YUl

[aeua—1

DelAliniell Sl A wadledl Yol WL,

Ut -1 desteld Al u AUl ulday saudl,
U~ 2o, e uil [as iy quil

U =3 WALt ouRcedl QLo Hawudl (sl wuledl a4l
ust =¥ udsidled adlae (3 du qull,

usi-y Hudsidle suddcdaad aeld $3),

W= GURAHL A% Wt Ugldsil L2 daipll ol
wrl-9 [Salmgdl aveuui-aisnsd ulay sl

WA =C QUReAl olul2ptell (albive aapll esul esoudl.

fereo-2

Dl el WRdlell 253 raioy Al BupL ALR)
(aea dled 3
(a0 ded, 92

AR ol 22l Wl

A

Uedeidsielleall adladl daedl wRdl auisd wa #r
- Hlastdle dnuilusial adl Ser adle
S, HUASIERL €5l adl 5L sdle
HASISLEHL Dzl 3 514 e
¢ tladla oll2ptl kel 5101 adl?

&

(€

mmmmmmmmmmmmmmmmmmmmmmmmmmmmmmm k) Fose
[ I [

14
14
14
14
14
14
14
14



o W9B-a,
B.A., Sem. -VI
Indian Culture - Indology
CC: 313
(Political Institution of India)

October 2021
Time : I Marks : 50

Section -

Instruction: Write any three questions of the following.
Q.-1 Give an Idea about Sabha and Samiti of Vedic period. 14
Q.-2 Write a note on Religion and State. 14

Q.-3 Give an information about sixteen Mahajanpadas of ancient India. 14

Q.-4 Give an Information in short about administration during 14
Gupt period.
Q.-5 Describe about administration during Mughal period. 14

Q.-6 Explain any four salient features of British administration of India. 14

Q.-7 Give an idea about the Ashtapradhan Mandal of Shivaji. 14
Q.-8 Describe the salient features of Indian constitution . 14
Section — 2
Instruction: Write the answer in brief. (Any four) 08

1. What is “Vidath” ?

2. What is the ‘Jajiyavero’?

3. Define the meaning of the word ‘Gana”.

4. From which sources do we get information about administration of
Sultanate period ?

Who was the chief of municipality during Mauryan period?

Who was the chief of army during Mughal period?

What was the duty of Peshwa during Maratha period?

o N W

Who was the chairperson of Indian Constitution ?
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ENGLISH VERSION

Instructions : (1) Figures to the right indicate Full Marks of the questions.

SECTION-I
Answer any three :
Describe the process of formation of the constitution of India.
Discuss the main features of the constitution of India.
Give information about the basic rights of the constitution of India.
Reveal Guiding principles of state policy.
Describe the powers of the president.
Discuss the powers of Prime Minister.
Report the powers and scope of the Supreme Court.

Give an information about Indian Election Commission.

SECTION-II
Choose the correct answer (any four) :

(1) Indian constitution is ...............
(a) Written (b) Unwritten (c) Verbal (d) None of these

(2) The first meeting of the constituent Assembly was held on ...............

(a) 9-12-1946 (b) 1-8-1947 (c) 26-1-1950 (d) 15-8-1947

(3) e base of the Democracy so constitution place it first.
(a) Equality (b) Religious (c) Secular (d) Independence
(4) e is fundamental rights

(a) Independence (b) Religious (¢} Social (d) Political
(5) India’s form of state will be .............
(a) Secular (b) Social (c) Political (d) Equality
(6 ) In constitution .............. Citizenship is accepted.
(a) Single (b) Two (c) Triple (d) None of these
(7) The Judges of the supreme court appointed by the ...............

(a) President (b) Prime Minister (c) Election Commission (d) None of these

( 8 ) The term of Prime Minister is ............... Years.
@3 (b)4©)5(8

14

14

14

14

14

14

14

14
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4. ol Qudl aslell stolll u il (14)
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B.A. Semester — VI
Sub.: Economics

Core: 313 (Problems of Indian Economy-04

Section-I

Attempt any three of the following questions:

Discuss the quantum, nature and direction of foreign trade.
Evaluate India’s import substitution policy.

State the objectives of the nationalization of commercial banks.
Discuss the working of commercial banks.

Explain the meaning of monetary policy and discuss its objective.

Evaluate the monetary policy of Reserve Bank of India.
Discuss the characteristics of Indian Tax Structure.
State the reforms done in tax structure of India.

Section-II

Fill in the blanks by choosing the correct option: (Any Four)

International trade is the outcome of

(Political Relationship, International Division)

Free trade leads to monopoly. (True, False)

14 big banks in India were nationalizedin
(15% April, 1980, 19 July, 1969)

Axis Bank is bank. (Nationalized, Private)
The abbreviation of Bank Rate is _ (BR, RR)
RBI was established in the year (1913, 1935)
Goods and service tax is tax. (direct, indirect)

In which country GST was firstly introduced ? (Japan, France)

sookskdk

Total Marks: 50

[14]
[14]
[14]
[14]
[14]
[14]
[14]
[14]

[08]
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ENGLISH VERSION

Figures 1o the right indicate Foll Marks of the questions.
Wirite answer of any three questions in Section-I and
Write answer of any four questions in Section-II.

Yin B Phe anneent of ancial

st nmattor

m PN 24
5GCial uuywkiukug} and its su UCECT natiet.

S TRl AL y’ (83w vuuvwft A

Hxplain the relation between social psychology and other social sciences.

Exolain the nature and formation of cognition.

m

3

Explain the concept and characteristics of social attitude
Explain the factors that make change in social attitude.

Clarify the concept of perception and structure of perception.

Clarify the concept of perception and discuss the factors that make change in perception.

Show following sentences are either right

(5 Sccial psychology study the behavicur of person in society.

2) Behaviour is not the product of experience.

3) The person learns attitudes by social interaction.

(4) Cognition is not the individual view of reality.

5 Bogardus name is associate with method of social distance scale.
(6} Permanent satisfaction of bicgenic motives is not possible.

(7 Fear, troble, contempt are positive aftitudes.

(8)  Cbligation, Mercy. confidence are positive attitude.

Yt
o
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English Version
Gujarat University, Ahmedabad
T.Y.B.A. Semester-VI
Tourism Geography
Paper Code-313

Total Marks-50

Part-1
Answer any three of the following questions.
Q-1 Explain the factors affecting tourism. (14
Q-2 What is the importance of tourism in the Indian economy as an industry? -Explain.  (14)
Q-3 Explain in detail the Major types of tourism. (14)
Q-4 What is seasonal tourism? Explain its importance. (14)
Q-5 Explain the Impacts of tourism. (14)
Q-6 Explain the laws for pollution control. (14)
Q-7 Discuss the Prospects of tourism development in India and regional dimensions of tourism
attraction. (14)
Q-8 Discuss the major World Heritage Sites of India declared by UNESCO. (14

Part-I1

Q-9 Choose the right option. (Any four) (08)

1.Nalanda University is located in which state?
(a)Gujarat (b) Bihar (c) Rajasthan (d Uttarpradesh)
2 Mount Everest is an excellent example of which type of tourism?
(a)Adventure Tourism (b) Religious Tourism (c) Cuitural Tourism (d) All are given
3. The Statue of Unity is built on which bat?
(a)Piram bat (b) Aliya Bat (¢) Sadhu Bat (d) Nada Bat
4. What is the height of the "Statue of Unity"?
(a) 187 metre (b) 184 metre (c) 182 metre (d) 190 metre
5. In which month is the Ranotsav usually held?
(a) December-February (b) March-May (¢) March-June (d) J une-September
6. Kevadi is a tourist destination located in which district?
(a) Surat (b) Narmada (c) Bharuch (d) Tapi
7. Where does the “Gol-Gadheda fair” take place?
(a) Jesavada (b) Kevdi (¢) Jambughoda (d) Vaghai
8 Which Indian tourist destination was declared a World Heritage Site in 20217
(a) Lothal (b) Rangpur (c) Raiyoli (d) Dholaveera ’
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OCT OBER 2021
SEMESTER VI B.A.
COMPUTER APPLICATIONS
CORE : 313 [CC - 313]
COMMUNICATION SKILL & INFORMATION TECHNOLOGY

TIME: 2.00 HRS. MARKS: 25
ENGLISH VERSION

INSTRUCTION : - All Questions in Section 1 carry equal marks.
Attempt any T HREE questions inSection 1.
Question IX in Section 2 is Compulsory.

Section I
Q.1 What is written Communication? Explain it.
Q.2 Explain Non Verbal Communication with example.
Q.3 Write a note on Stras Interview
Q4 Explain the speaking strategy.
Q.5 Explain web browser word with example : Bookmarks, History.
Q.6 Give information about LINKDIN,
Q.7 Explain secure cell client with example.
Q.8 Explain SFTP.
Section I1

Q.9 Do as directed. (Any Four)
(1) Full Form : HTTP
(2) Full Form : WWW
(3) Full Form : BCC
(4) Write full form : FTP
(5) Write any one definition of Communication.
(6) Write any two benefits of written communication.
(7) How many types of communication? write their names.
(8) What is effective presentation? write in one or two lines.
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